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ori gen;
desti no;
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desp;
result;
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nonbre [ MVAX_NOM ;
dat os [ TAM BUF] ;

servidor.c

#i ncl ude "header. h"

int nmai
{

struc

int r;

n (void)

t mensaje

mL, nP;

n2. origen = SERV_FI CH

whi | e
{

(1)

recei ve (SERV_FI CH, &ml) ;
switch (ml. codi go_op)

ne. result

{
case CREA:

r = crea _fich (&, &) ; br eak
case LEE:

r = lee fich (&, &) ; br eak

case ESCRI BE

r = escribe _fich (&, &) ; break
case BORRA

r = borra_fich (&, &) ; br eak

defaul t:

r = ERROR _OP;

}

_r’

n2. desti no = mil. ori gen
send(ni. ori gen, &) ;



cliente.c

#i ncl ude <string. h>
#i ncl ude "header. h"

| ong copia en_serv (char *org, char *dst)

{

struct nensaje mil;
| ong posicion = 0;
long cliente = 110;
do
{
ml. origen = cliente;
ml. codi go_op = LEE;
nml. desp = posi ci on
mL. cont = TAM BUF;
strcpy (ml. nonbre, org);
send (SERV_FI CH, &ml) ;
receive (cliente, &nil);
if (nl.result > 0)
{
nmL. origen = cliente;
nml. codi go_op = ESCRI BE
nl. desp = posi ci on
mL.cont = nl.result;
strcpy (ml. nonbre, dst);
send (SERV_FICH, &ml);
receive (cliente, &nl);
posicion += nil.result;

}
} while (nl.result > 0); /*
return (nil.result);

}

mL. resul t

TAM BUF

*/



